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1. (@) Evaluate (V2 + 1)° + (2 - 1) using

‘ binomial theorem. : 4
(b) A bag contains € 187 in the form of
1-rupee, 50-paise and 10-paise coins in

the ratioof 3: 4 : 5. Find the number of
each type of coins. 4

(c) What must be added to each of the
numbers 9, 17, 21, 37 so that the new
numbers are in proportion? 4

G16/173a ( Turn Over )

Www.gzrsc.edu.in




(b)

(c)

(b)

(c)

4. (a)

(2)

OR

boys in a class. Their
s 50 kg. When one boy
the average reduces by
ight of the boy who

There are 20
average weight i
leaves the class,
80 gram. Find the we

left the class.

Find (i) the greatest 4-digit number, and
(i) the smallest 4-digit number so that
they are exactly divisible by 12, 15, 20

and 35. - 4

12
1
Find the 10th term of (2x2 +;) ] .

Write the first 5 terms of the sequence

an =(__1)n-1 x2n+l 3

If the 9th term of an AP is O, prove that
its 29th term is double of the 19th term. 4

Deduce the formula S, ={2a+(n-1)d}
for the AP where n is the number of
terms, a is the first element and d is

the common difference. S

OR

Find the 10th and nth term of the
geometric progression (GP)

12’ 4! i’ i, see 3
3 9
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S.

6.

(b)  Find three numbers in GP

()

(@)

()

l'oo‘(lﬁt N

( 3)

whose sum is

13 and the sum of whose squares is 91, 4

Explain the relation among arithmetic
mean (AM), geometric mean (GM) and
harmonic mean (HM) along with

examples,

Construct a matrix whose elements are
given by

1 L4
o= |5(=37]
Ay = Jl 3

2 3
Express the matrix A = [1 4] as the

sum of symmetric and skew-symmetric

matrix.

By using elementary row operation, find
6 7]

ihe inverse of the matrix [
. 8 9 4

OR

(a) Find the minors of the determinant

1 -3 2
A=(4 -1 2
3 5§ 2
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(4)

(b) Evaluate

1 -3 -4

9 9 12
1 9 12

(c) Using the properties of dete
prove that
|1

7. (a) Differentiate cotx fro

(b) 1+sinx

Differentiate ———— -
l1-sinx

(c) Differentiate sin2x cos3X.
OR

8. (a) Evaluate
f : ) dx

(b) Evaluate I sec! xdx.

(c Evaluate I x cos® x sin xdx.

8

(L-x3)/3

(d) Evaluate I

: * % k
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SECTION—I
( Marks : 15)

1. Put a Tick (v)) mark against the correct answer in the
brackets provided : 1x10=10

(a) Prime number means

(i) a number thatis an odd number ( )
(i) a number divisible by 3 ( )
(iii) a number that has two factors ( )

(iv) a number not divisible by even
number ( )
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www.gzrsc.edu.in

S —_—




I T T e T AP R B SR WA P

(2)

(b) Divisibility means

() numerator and denominator must be

same (- )
(ii) remainder must be 1 ( )
(iii) remainder must be O ( )

(iv) denominator must be -'bigger than
numerator ( )

| (c) By adding the terms of a sequence, we get a/an
(i) arithmetic iarogression ( )
(i) gedmetric progressionv ( | ‘)
(iii) series ( )
(iv) aﬁthmeﬁc mean ( )
(d) The general term of an AP is given by

@ a+@-nmd ()

(n-1)d ( )
a

(ii)
(i) a+(n-1d ( )

(iv) None of the above ( )

I/BCA/102/173

WAL Q7
~J

Y




(e) For a 2x2 matrix given by
element ay, is

@H 1
(i) 3
(iii) 5

(iv) 6

(f) The value of

i) 15
(i) 25
(iii) 35
(iv) 45
(g) The value of
‘ i) 1 (
(i) 2 (
(iii) 3 (

(iv) O (

1/BCA/102/173

(3)

a; =(+2j), the

( )
( )
( )
( )

-4 5

1A _s is

lim sin x is
x—0

)

)

)

)
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(4)

(h) The value of -éilx—(x") is

(t)

(ti)

(i)

(iv)

()
(1)

(i)

(iii)

(iv)

() The
)
(iv)
(iii)

(iv)
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In the AP 7, 13, 19, ..

e ( )
X1 ( )
ettt ()
nxn-l ( )

32 terms ( )

33 terms ( )

34 terms ( )

35 terms ( | )

value of I (log x) is
x

-1—10 x+c

—log ()

sinx? + ¢ ( )

xlogx+c ( )

_1..(1 2

5 og x)° +c¢ ( )
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(5)

2. Tick (v) either True or False : 1x5=5

(@) The value of fx—(sin"l x) is

1-x2

True ( ) / False ( )

(b) All the diagonal elements are zeros in a diagonal
matrix.

True ( ) / False ( )

(c) Integration is the inverse of differentiation.

True ( ) |/ False ( )

(d) The sum of the series 5,9, 13, 17, ... up to
23 terms is 1127.

True | ) / False ( )

X X(x -1
(e) Ify= ~e;—, then the value of %'is E-—(—J-;——! .

X

Tfue ( ) / False ( )
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(6)

sgcTION—II
( Marks : 10)

i ions :
Answer the follow1ing question

n
1. Differentiate between HCF a
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(7))

2. Which one is greater from the following?

8 2
i d =
g and¢ 3
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3. Explain skew-symmetric matrix.
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(9)
S 10 -15

’ ﬁnd A.
1 0 -5
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( 10 )

. 3
5. Differentiate Y = sin x~ -

* & K
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